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Instructions for the candidates :

1. olereff OMR SR U5d UR 39T UeH GREIHT HHIB (10 DI PI) ALY
ford |
Candidate must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.
2. TRIeTef} TATHHT SO IeaT H B SN G |

Candidates are required to give answers in their own words as far
as practicable.

3. qIfeN IR BRI R & U ofd gunies ffde avd 2|

Figures in the right hand margin indicate full marks.

4. gel $I LFYdd UgH @ o1 wRiefil o1 15 e @1 srfaRed |wd
fe=am T 2



15 minutes of extra time has been allotted for the candidates to
read the questions carefully.

I8 YeA—gRAPI T WUS| § fa9ad & — WUS—3 Ud WUs—T |

This question booklet is divided into two sections - Section-A and
Section-B.

Gus—3 H 70 q&IfTS U B, FOFH A fbgl 35 UwAl &1 IR oA
AR 21 35 Ul ¥ 3AH P IR I W UAH 35 BT B HATDHA
BN | UAd & foly 1 3 MEiRd €1 3@ SR o & oy Iuct&d

BRI MU OMR SR 99d § U U ¥al fddbey &l el / &Il dfd

U9 9 e | Bl ff 9oR & gseR / R g / =i [/

ARGA o & OMR STR U&d H WANT &RAT A1 ©, 3FAT URIel
aRUTH SFHT=T BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only the first 35 will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc. on OMR Answer Sheet, otherwise the result will be

invalid.



7. GUS—g H 20 g SR U & | IS B foly 2 3 FiRa 8 [
H Bl 10 A1 BT IR 1 AFER & | 5o AfIRed 39 @Us H 6
" I v Ry M E, u_e @ oy 5 ofe fwiRa € R @
fP=El 3 YAl BT IR <A1 AR 2 |

In Section-B, there are 20 short answer type questions, each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 long answer type
questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. P TR & Seldid ISR & JANT Yoiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Tuvs—31 / Section-A

axqfss U3+ / Objective Type Questions

U A 1 ¥ 70 9% @ forg IR Rawed Ry 1w & 9 9 R v w9 2 1 g
T 92l fadwed &1 OMR ¥ie wR fafed & | % 35 Ui & IR < B |

(35x1=35)

Question Nos. 1 to 70 have four options, out of which only one is correct.
Mark your selected correct option on the OMR Sheet. Only 35 questions are

to be answered. (35x1=3%5)

1. SR T © -
(A) Ye o= (B) & T



(C) FarT o= (D) =R oA
Dover port is :

(A) Packet port (B) Qil port
(C) Passenger port (D) Naval port
7 # ¥ 39 aiffe TR 78 2 ?

(A) HerpT (B) aRTORAY
(C) STT=Trer g (D) 7%
Which of the following is not a religious city ?
(A) Mecca (B) Varanasi
(C) Jagannath Puri (D) Mumbai

IRA BT faereras arfie a9 ®

(A) feg (B) et
(C) 39 (D) fra
The largest religious group of India is :

(A) Hindu (B) Muslim
(C) Christian (D) Sikh

R H YH ST S

(A) 1872 H (B) 1919 #
(C) 1880 H (D) 1890 #
The first census in India was held in :

(A) 1872 (B) 1919



(C) 1880 (D) 1890
o= sal ° 9 e d SeaRar g9 9aife © ?

(A) af¥em e (B) faem

(C) Brel OESIE

Which of the following states has the highest density of population ?
(A) West Bengal (B) Bihar

(C) Kerala (D) Punjab

= TR B9 999 g Bl © ?

(A) ofe (B) wel

(C) oRw (D) T SraTar
Which of the following cities is called the New Flower ?
(A) London (B) Perth

(C) Paris (D) Addis-Ababa
ifcw Mifes @1 wedy = -

(A) TR 4 (B) 7ifa &

(C) Famarfer | (D) s & BIs 2l
Patrick Geddes is related to :

(A) Conurbation (B) Village

(C) Megalopolis (D) None of these
IRA H S JaTd BT & SR T

(A) e (B) faars



10.

11.

(C) ISR (D) arforsa

The main cause of female migration in India is :
(A) Education (B) Marriage
(C) Employment (D) Commerce

fr= wroal § 9 fhaa) aeRdr <) 9difde g ?

(A) TOIRT (B) @xet
(C) TSR (D) Tfierrg

Which of the following states has the highest literacy rate ?

(A) Gujarat (B) Kerala

(C) Rajasthan (D) Tamil Nadu

= % 9 o9 Ba TR 8 ?

(A) sRaT (B) STRIGYY

(C) starer (D) %

Which of the following is a cantonment town ?

(A) Jharia (B) Jamshedpur
(C) Ambala (D) Mumbai

= H | Bl AeAOd TR B 2

CVEEINE (B) faamh

(C) Tt (D) &4 | w4l
Which of the following is an educational town ?

(A) Aligarh (B) Pilani



12.

13.

14.

15.

(C) Roorkee (D) All of these
foraRer |wfad 2

(A) = (B) Biwy

(C) 7= (D) 512
Liberica is associated with :

(A) Tea (B) Coffee

(C) Sugarcane (D) Jute
AR e H ol I &

(A) e ge (B) STR wa
(C) fasr (D) Tra

The leading state in soybean production is :

(A) Madhya Pradesh (B) Uttar Pradesh
(C) Bihar (D) Goa

HEal Icared # ofl 9 %

(A) Bifed (B) wirar

(C) STRIIvs (D) |

The leading state in coffee production is :

(A) Karnataka (B) Goa

(C) Uttarakhand (D) Assam

IrI IaTed H ol T T

(A) TTorTd (B) rar



16.

17.

18.

(C) fder (D) |

The leading state in Tea production is :

(A) Gujarat (B) Goa

(C) Bihar (D) Assam
3 AT IRT R 2

(A) TTadt | (B) g ¥
(C)~Ie ¥ (D) BT %
Aman and Boro are associated with :

(A) Rice (B) Wheat

(C) Jute (D) Coffee
RO GReT AR ba AN fhar Ty ?

(A) 1986 (B) 1988

(C) 1992 (D) 1995

When was Environment Protection act implemented ?
(A) 1986 (B) 1988

(C) 1992 (D) 1995

T DI HTIS Ired H ol 5y © 2

(A) sifser (B) weRTSS

(C) uf¥=m el (D) weu wew
Which state is a leading producer of manganese ?

(A) Odisha (B) Maharashtra



19.

20.

21.

22.

(C) West Bengal (D) Madhya Pradesh

HTHRTITST fbd I # Rerg © 7
(A) ORI (B) T
(C) bife® (D) <TSTI

Kakrapara is situated in which state ?

(A) Gujarat (B) Goa

(C) Karnataka (D) Rajasthan
RRT 9g ® -

(A) e ST @ forg (B) drIe & forg

(C) M@ Soil Fa & fory (D) SR& HRET & fory
Narora is famous for :

(A) Cotton textile industry (B) Coal

(C) Nuclear Power Plant (D) Fertilizer factory
T A DI AIRIH Iedre H ol & ?

(A) FTRETS (B) ueTrd

(C) @ (D) wERTSS

Which of these is a leading producer of thorium ?

(A) Jharkhand (B) Punjab
(C) Kerala (D) Maharashtra
TrIg B T 8 °

(A) DIl &=l (B) UeiferaH &=



23.

24.

25.

(C) 315 & (D) difaT &=

What is Mumbai High ?

(A) Coal area (B) Petroleum area
(C) Mica area (D) Copper area
AftTHROT URTE B

(A) FaTdRT Hol (B) ga Sl

(C) S it (D) ¥R Tt

Manikaran is famous for :

(A) Geothermal energy (B) Wind energy
(C) Bio- energy (D) Solar energy
qI91ge B TeTedl uRig © -

(A) g 3F & fory (B) ®rrem & forg
(C) Ugifers™ & forg (D) 3w & forg
Bababudan hills are famous for :

(A) Iron ore (B) Coal

(C) Petroleum (D) Mica

fFrefeRad § @I= =T Scqres H ol oy § 7

(A) FRIRTSS (B) feer

(C) SR U=w (D) Trar

Which of the following is a leading state in Sugar production ?

(A) Maharashtra (B) Bihar

10



26.

27.

28.

29.

(C) Uttar Pradesh (D) Goa

7 ¥ 9 P19 91 sWId G dAlcd H 8 P

(A) STBRY BERENIS
OEEER (D) TTgR

Which of the following steel plants is in Karnataka ?
(A) Bokaro (B) Asansol

(C) Bhadravati (D) Durgapur

TeIexT fbd o H Sraierd & ?

(A) Torrd (B) HERTSS:

(C) e (D) afem et
Vadodara is located in which state ?

(A) Guijarat (B) Maharashtra
(C) Goa (D) West Bengal
secois U Awd @ :

(A) et faera (B) Sa fafderan
(C) wgT (D) @t i
Brundtland Report is associated with :

(A) Sustainable development (B) Biodiversity
(C) Pollution (D) Acid rain
B diY f5a g H © 7

(A) RToRerT (B) usite

11



30.

31.

32.

(C) g (DEENE

Harike barrage is in which state ?

(A) Rajasthan (B) Punjab

(C) Haryana (D) Maharashtra
9RA H Ugell Vol | ARf R =elr off ?

(A) gz 1 a1 (B) 7 ¥ free
(C) T ¥ X (D) % ¥ TR

The first train in India was run on which route ?
(A) Mumbai to Thane (B) Mumbai to Delhi

(C) Mumbai to Surat (D) Mumbai to Nagpur

RA H a1y URas bd Y gAT AT 7
(A) 1936 (B) 1911
(C) 1947 (D) 1956

When was Air transport launched in India ?

(A) 1936 (B) 1911

(C) 1947 (D) 1956

IR SfyeT TTIRT e ®

(A) SR BT ST | (B) STF] 1 HATHART A
(C) faeell &1 a5 A (D) SR T HATHART

North-South corridor connects :

(A) Srinagar with Jammu (B) Jammu with Kanyakumari

12



33.

34.

35.

36.

(C) Delhi with Chennai (D) Srinagar with Kanyakumari
BT b g H © 7

(A) faeR (B) SR 3w

(C) AeayaeT (D) TorTd

Hazira is in which state ?

(A) Bihar (B) Uttar Pradesh

(C) Madhya Pradesh (D) Gujarat

gTH W BIF JoRTd &1 U< © 7

(A) TR (B) Bl
(C) <y (D) TR
Which of these is a port of Gujarat ?

(A) Ennore (B) Kandla
(C) Paradip (D) Tuticorin
HTAR I Rerd ® -

(A) Tfes ¥ (B) ava
(C) e (D) afem #

Mangalore port is situated in :

(A) Karnataka (B) Kerala
(C) Goa (D) Odisha
WRT @ 3fferepre faeell IR ®1 g8 BT ©

(A) Es® AT 4 (B) argAmt &

13



37.

38.

39.

(C) Wl At & (D) UTSUeTE ¥
Most of India’s foreign trade is a carried through :
(A) Roadway (B) Airway

(C) Ocean route (D) Pipeline

eEY] ¥ DI [Hd UgUUT | G 2 2

(A) STeT TemoT (B) arg uguer

(C) a1 wgor (D) &ty wrgwor
Smog is associated with which pollution ?

(A) Water pollution (B) Air pollution
(C) Sail pollution (D) Noise pollution

[aN o

R uRATS fbd T iR Rerd € 2

(A) @ (B) 7

(C) weral (D) TTrETeRT
Hirakud project is situated on which river ?

(A) Krishna (B) Ganga
(C) Mahanadi (D) Godavari
fFr=forRad H B WRA &1 g@T Yqor I § 7

(A) IR (B) 3reH
(C) Torra (D) fees Frer
Which of the following is the most drought prone state of India ?

(A) Kerala (B) Assam

14



40.

41.

42.

43.

(C) Guijarat (D) West Bengal
BT BT UST Hal g7

(A) Hgad 5T IFERDT (B) ==
(C) w4 (D) SITaT
Where is Corn belt ?

(A) United States of America (B) China

(C) Russia (D) Japan

Tl AR RAI Feaars o1 g1 1 R & 7
(A) Freagarg (B) Hwaarg
(C) Fa—freerrarg (D) T7H & BIS el

What is another name of ‘stop and go’ determinism ?

(A) Determinism (B) Possibilism
(C) Neo-determinism (D) None of these
=1 % | B ARSI & UGl 8§ ?

(A) ffT Tre (B) fafercar et
(C) TagIR® Tt (D) S\ T

Which of these is not a sub-branch of Social geography ?
(A) Gender geography (B) Medical geography
(C) Behavioural geography (D) Resource geography

SHERT gRIdT BT Tch B & 2

(A) ST (B) 9

15



44.

45.

46.

(C) vars (D) T & &+t
Which is a component of population change ?

(A) Birth (B) Death

(C) Migration (D) All of these

feq # A 3Aferd THHAET [bd Q9 B § ?

(A) =1 (B) e

(C) v (D) sTofiet

Which country has the largest population in the world ?
(A) China (B) India

(C) Russia (D) Brazil

o8 e &1 ey foad g ?

C C

(A) NUIRSE? gRad+ (B) FUTHD R

(C) 9T uRacH (D) 37H & BIg =l
With which is development associated ?
(A) Qualitative change (B) Negative change

(C) Positive change (D) None of these
U H-q A UfcdasT &d UhbIRIa g off ?

(A) 1980 (B) 1990

(C) 1991 (D) 2001

When was the first Human Development Report published ?

(A) 1980 (B) 1990

16



47.

48.

49.

50.

(C) 1991

(D) 2001

= ¥ 9 o9 ddae fhaream 9 g g ?

[}

(A) T YHERT]

(C) Sary

(B) &

(D) HER JART

Which of the following is associated with tertiary activity ?

(A) Food Processing

(C) Services

(B) Mining

(D) Cottage industry

= ¥ 9 o9 9=¥ fhareery 9§ wwefd © ?

(A) faR=
(C) WRTHIETaT

(B) fotgamar
(D) 57 & Wiy

Which of the following is associated with quinary activity ?

(A) Specialist

(C) Consultant

PlIIdTST SSTEN © -
(A) Ul BT BT

(C) fafera Y a1

Kolkhoz is an example of :

(A) Monoculture
(C) Mixed farming
Jos Pal © ?

(A) =ofrets

(B) Decision maker

(D) All of these

(B) wrffes Y @1
(D) 5% ¥ g &

(B) Collective farming

(D) None of these

(B) smferan

17



51.

52.

53.

(C) <feror anpiar (D) fiys1

Where is veld ?

(A) New Zealand (B) Australia

(C) South Africa (D) Egypt

SR AT Tl T @

(A) AT &5 | (B) g &3 &
OkisssEERS (D) Swrhieddiy &=

Viticulture is related to :
(A) Mediterranean region (B) Polar region
(C) Monsoon region (D) Tropical region

P &8 B I ARG ¥ fbd T F S A1 © 2

(A) =8 (B) farear

(C) <frerT (D) &7 & BIg el

By which name slash and burn agriculture is known in India ?
(A) Jhum (B) Milpa

(C) Ladang (D) None of these

e gell H fhad g gwfud § ?

(A) Xas &1 (B) @rs &1

(C) @R g&f (D) SrteT gt

Chewing gum is related to which of these trees ?

(A) Rubber tree (B) Palm tree

18



54.

55.

56.

57.

(C) Date tree (D) Zapota tree
APTes MENTd Bg raRerd &

(A) Jc fieT (B) STHT
(C) wrd (D) 9=

Sheffield industrial centre is situated in :

(A) Great Britain (B) Germany
(C) France (D) China

ST BT R & URIE ©

(A) siferam @ forg (B) Praret @ ferg
(C) &g ey & forw (D) ouT & forw

Ruhr region of Germany is famous for :

(A) Petroleum (B) Coal
(C) Iron-Ore (D) Cotton
3MRUT TaRIINT SIS ®

(A) IR FT o D (B) IRe 1 afdf

(C) R &Y gigal & (D) IRE BT W &

The Orient Express connects :

(A) Paris with London (B) Paris with Berlin

(C) Paris with Istambul (D) Paris with Rome

T Fex Pl oINTs §

(A) 72 fareR (B) 60 fdrairiex

19



58.

59.

60.

(C) 50 fAc™Iex (D) 160 fehelIex
The length of the Panama Canal is :
(A) 72 KM (B) 60 KM

(C) 50 KM (D) 160 KM

qT 8 SiledT 2

(A) AT IR Bl YHARR A

(B) 3rcdificd ABRINR &I JRId A8NIFR |
(C) fE A8MFR &I WRId A8MIR 9

(D) sTH & ®1g &

The Panama Canal connects :

(A) Red sea with Mediterranean sea

(B) Atlantic ocean with Pacific ocean
(C) Indian ocean with Pacific ocean

(D) None of these

U g $al © ?
(A) germTet (B) s
(C) 3reuiRar (D) ARGH!

Where is Port said ?
(A) Portugal (B) Egypt

(C) Algeria (D) Morocco

YR H STad] fawpie & srafe 2 ¢

20



61.

62.

63.

(A) 1921—1951 (B) 1951—1981
(C) 1981—2001 (D) 2001—2011

The period of population explosion in India is :

(A) 1921—1951 (B) 1951—1981

(C) 1981—2001 (D) 2001—2011

T8% @ WeR b ufawy o el ferdl & ?

(A) TTATHTR (B) XRaaw

(C) SmaTPR (D) s & @I 7T
Which pattern of settlement is found along a canal ?
(A) Circular (B) Linear

(C) Rectangular (D) None of these

2011 BT SFIUMET & IAJAR, WRA H fRTUTd 1 o ?
(A) 743 (B) 843

(C) 943 (D) 1043

According to 2011 census what was the sex ratio in India ?

(A) 743 (B) 843

(C) 943 (D) 1043

frforRad & &9 smeeforam &1 Ioie 8 2

(A) 1< 3rdTaT (B) BeRT

(C) afefmen (D) garet
Which of the following is the capital of Australia ?

21



64.

65.

66.

67.

(A) Addis-Ababa (B) Canbera

(C) Wellington (D) Lusaka
g fod Y & Fwfd g ?

(A) TR %S (B) = &
C)gu 7T« (D) 17T FHfY &

Rubber is associated with which agriculture ?

(A) Mediterranean agriculture ~ (B) Jhum farming

(C) Dairy farming (D) Plantation farming
UT oIy STerar sl HeTaer & i € 2

(A) ZRm (B) wRrar

(C) ST eRiRaT (D) 3BT

The Great Lakes water way is associated with which continent ?
(A) Europe (B) Asia

(C) North America (D) Africa

f2or SMReT H BT 3MUdh Bl g & 2

(A) sTSitet (B) ferch

(C) T (D) 7%

Which is a member of OPEC in South America ?
(A) Brazil (B) Chile

(C) Venezuela (D) Peru

ON ON (N

frforRad & i T TR FHRT & 2

22



68.

69.

70.

(A) FforT g%l (B) U ST @1 T

(C) 7y T (D) T & W

Which of the following is an urban problem ?

(A) Slum (B) Scarcity of drinking water
(C) Air pollution (D) All of these

Hfthe b ) & fbIR Rerad & ?

(A) 3ifzatr (B) foiRye

(C) Praret (D) frar

Memphis is located along which river ?

(A) Ohio (B) Mississippi

(C) Colorado (D) Missouri

BHIATERT el 3gferd © :

(A) TRET # (B) 3mbiapT #
(C) ¥ (D) smeeferar #
Kalahari desert is situated in :

(A) Asia (B) Africa

(C) Europe (D) Australia
HOTQR &1 IS 2

(A) Rrettr (B) gret

(C) TrTet® (D) feage

The capital of Manipur is :

23



(A) Shillong (B) Imphal
(C) Gangtok (D) Dispur

©vs—q / Section-B

o I 999 / Short Answer Type Questions

TS AT 1 ¥ 20 oY SR 3| fB=l 10 Ul & SR 3| ISP b ol 2 3
frerife & (10x2=20)

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1, AT BT UTRdIdhRo F7 8 2
What is naturalization of humans ?
2. AT HURT GHE R®7 8 P
What is common property resource ?
3. IRT & fhgl IR M waall & M oIy |
Name any four Rabi Crops of India.
4. IR H "ed fofmua & <1 sror fafay |
Write two reasons for the declining sex ratio in India.
5. Ho ATUR FT 8 2
What is free trade ?

6. HEPHR AMUR Hal Dl WL BIFY |

24



10.

11.

12.

13.

14.

15.

16.

Clarify retail trading service.

ITAIOT qT TR IR § 7 3R © 2

What is the difference between rural and urban settlements ?

Y FENT qAT HER SN H T IR T 2

What is the difference between small scale industry and cottage
industry ?

G P S a1 Ul & A foalag |

Name two subfields of Human geography.

O 3R Ul H AT R T 7

What is the difference between port and harbour ?

qrIg daxis &1 RIfd Ud HAeta &1 Iooid HITTY |

Mention the location and importance of Mumbai port.

IRA & gl d¢ W Red IR g+l & 9M fofeay |

Name the four ports of India located on the western coast.
IRA & Y MeRa a1 el & 9 forfkay |

Write the names of two agro-based industries of India.

ORI P ST drd] ScTed bl & A9 foIfRau |

Write the names of two copper producing centres of India.

STEEIT O & 319 &7 99 & ?

What do you mean by density of population ?

STel R & IR ATl BT Seoig HIFTY |

25



17.

18.

19.

20.

Mention four advantages of water transport.
Aferd It @7 8 ?
What is slum ?

I & MR R TN DI G ihd B |

Classify industries on the basis of ownership.

AR B RAfY BT ga1fad dxdrel fhs] &7 BRBT BT Sooikg HIFIT |

Mention any two factors influencing the location of industries.
I Ud R H 3R Te BT |

Distinguish between site and situation.

4" 9o 939 /Long Answer Type Questions

9 AT 21 9 26 41" SR B | fhal O U9l ® SR § | U B Y 5 b

fafRa 21

(3x5=15)

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. (3x5=15)

21.

22.

23.

RTT TR ®T 8 & ? S T Ubrd 8l & ?

What are garrisson towns ? What is their function ?

9Rd ¥ gRd wifa & fagivdrei &1 auia HIfv |

Describe the charactertics of green revolution in India.

TR IRTIT B FHRRT B fAdaHr S |

Discuss the problems of urban settlements.

26



24,

25.

26.

ST gyl R Ueh Glere fewoft forfay |

Write a short note on water pollution.

IRT & 3Mw Terd § Tsdi o Fa1 YHaT g ?

What is the role of roads in the economic development of India ?

YR BT AFRF 99180 vd fAeferRaa &1 uefRfa @i :

(A) PrseT (B) # TR

(C) faeeh (D) =T

(E) femarg

Draw a map of India and show the following :
(A) Kandla (B) Srinagar
(C) Delhi (D) Narmada

(E) Digboi
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